

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

TAX INVOICE

LONPAC INSURANCE BHD 300 BEACH ROAD #17-04/07 THE CONCOURSE SINGAPORE 199555 INV No. AC2003409

INV Date 23/04/2020

Reference CS/LPC20004904/Uvd3n2

Code LPC2

PROFESSIONAL SERVICE FEE

Vehicle No. YP 7668Y

Insured Veh. GBF 5826X

Claim No. 19/20/20/VC05/023252

Policy No.

Accident Date 25/03/2020

Inspection Date 09/04/2020

Description	Total
Survey Inspection	350.00
Resurvey Inspection	
Digital Photographs	
Transportation	
Subtotal	350.00
GST (7%)	24.50
Grand Total	374.50

We shall be glad if you could forward the payment at your early convenience.

Cheque should be crossed and made payable to 'LKK Auto Consultants Pte Ltd'

LKK Auto Consultants Pte Ltd

HYN



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

	Affiliated to Federation Internationale Des Experts En Automobile					
LONI	PAC INSURANCE	BHD	Ref : CS/LPC20004904/	Ref : CS/LPC20004904/Uvd3n2		
	BEACH ROAD 04/07 THE CONC	OURSESINGAPORE 199555	Date: 23-04-2020 Code: LPC2			
1.		Policy Particulars	:- THIRD PARTY CLAIM			
	Insured Veh.	GBF 5826X	Veh. Inspected	YP 7668Y		
	Policy No.		Coverage (\$)	0.00		
	Claim No.	19/20/20/VC05/023252	Excess (\$)	0.00		
	Assign From	ONG LI LI	Assign Date	03/04/2020		
2.		Vehicle Partic	culars & Condition			
	Make & Model	MITSUBISHI FUSO FK62 (M)	c.c	7545		
	Engine No.	HIDDEN	Year of Reg.	2017		
	Chassis No.	FK62FMA30353	Colour	WHITE		
	Odometer	212485	Steering	IN ORDER		
	Brakes	IN ORDER	Modification	NIL		
	General	GOOD				
3.		Conditi	ons of Tyres			
		Size	Make	Balance		
	R/H Front Tyre	245/70 R19.5	FALKEN	7 mm		
	L/H Front Tyre	245/70 R19.5	FALKEN	7 mm		
	R/H Rear Tyre	245/70 R19.5 (D)	FALKEN	7/7 mm		
	L/H Rear Tyre	245/70 R19.5 (D)	FALKEN	7/7 mm		
4.		Description	on of Damages			
	THE VEHICLE SU	STAINED DAMAGES AT THE RE	AR AND FRONT PORTION.			
	DAMAGES SEE D	ETAILS.				
5.		Genera	I Information			
	Accident Date	25/03/2020	Inspection Date	09/04/2020		
	Survey held at MAH LIAN MOTOR VEHICLE REPAIRER					
		38 DEFU LANE 9 SINGAPORE 539278				
5a.		Re	emarks			
	A)THE INSPECTION WAS CONDUCTED ON A"WITHOUT PREJUDICE" BASIS. B)IN ACCORDANCE TO YOUR INSTRUCTIONS, WE HAVE NOT AUTHORISED REPAIRS.					
5b. Estimate Days of Repair						
	ESTIMATED NORI	MAL PERIOD FOR REPAIR:	5 Working Days			



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 2

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. YP 7668Y

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	FRONT PANEL	BADLY DENTED	2,658.34	2,658.34
1	FRONT PANEL RUBBER SEAL	NOT NECESSARY	233.00	-
2	FRONT PANEL HINGE-LH/RH @\$72.45	CRACKED	144.90	144.90
1	FRONT PANEL HANDLE-RH	BENT	189.53	189.53
1	FRONT GRILLE	CRACKED	1,355.06	1,355.06
1	"MITSUBISHI" LOGO	SCRATCHED	279.91	279.91
1	WIPER PANEL	TO REPAIR SEE LABOUR	2,821.98	-
1	WIPER PANEL RUBBER SEAL	NOT NECESSARY	127.00	-
1	WIPER WASHER TANK	DEFORMED	769.87	366.20
1	WIPER MOTOR BRACKET	NOT NECESSARY	235.34	-
1	WIPER LINK ASSY	NOT NECESSARY	835.28	-
2	FRONT CORNER PANEL-LH/RH @\$1127.41	CRACKED	2,254.82	2,254.82
1	INNER PANEL	TO REPAIR SEE LABOUR	5,122.87	-
1	INNER PANEL REINFORCEMENT	TO REPAIR SEE LABOUR	1,321.28	-
1	FRONT BUMPER	BENT	2,389.52	2,389.52
2	FRONT BUMPER BRACKET-LH/RH @\$299.27	BENT	598.54	598.54
2	HEADLAMP RIM-LH/RH @\$544.39	CRACKED	1,088.78	1,088.78
2	HEADLAMP ASSY-LH/RH @\$1322.78	CRACKED	2,645.56	2,645.56
2	HEADLAMP BRACKET-LH/RH @\$299.27	BENT	598.54	598.54
2	FOG LAMP-LH/RH @\$544.96	CRACKED	1,089.92	1,089.92
2	SIGNAL LAMP-LH/RH @\$405.08	NOT NECESSARY	810.16	-
2	STEP PANEL-LH/RH @\$788.96	NOT NECESSARY	1,577.92	-
1	AIRCON BLOWER ASSY	NOT NECESSARY	1,321.28	-
1	AIRCON COOLING COIL ASSY	NOT NECESSARY	1,074.30	-
1	AIRCON EVAPORATOR ASSY	NOT NECESSARY	2,165.47	-
	LESS 25% DISCOUNT		-8,427.29	-3,914.91
			25,281.88	11,744.71

Report Ref No. CS/LPC20004904/Uvd3n2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 2

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	SPECIAL NETT ITEMS			
1	REAR TIPPER WOOD STEP (SN)	CRACKED	638.00	480.00
			638.00	480.00
	<u>LABOUR</u>			
	LABOUR TO REMOVE & REFIT AIRCON SYSTEM,TOP UP & VACUUM AIRCON GAS.	NOT NECESSARY	200.00	-
	LABOUR TO REMOVE & REFIT WIPER MOTOR,ARM,BLADE.	NOT NECESSARY	180.00	-
	LABOUR TO CHARGE & REMOVE & REFIT & DISMANTLE & WELD & CUT & RENEW ALL ABOVE PARTS.INCLUSIVE OF THE REPAIR OF WIPER PANEL,INNER PANEL AND INNER PANEL REINFORCEMENT.		3,500.00	1,200.00
	TO SPRAY & PAINTING AT ACCIDENT DENTED AREA.		1,600.00	1,400.00
	TO RUST PROOFING AT ACCIDENT DENTED AREA.		100.00	50.00
	LABOUR TO DISMANTLE & RENEW REAR TIPPER WOOD.		550.00	200.00
			6,130.00	2,850.00
	GRAND TOTAL		32,049.88	15,074.71
	PECOMMENDED COST OF LUMP SUM PEPAIRS	<u> </u>		12 000 00

RECOMMENDED COST OF LUMP SUM REPAIRS		12,000.00
(TO ITS PRE-ACCIDENT CONDITION)		

Report Ref No. CS/LPC20004904/Uvd3n2

CHUA KANG SENG

Licensed Appraiser